
8th January 2021 Maths 

Questions  

Here is my worked example to help you or you can use your one from yesterday 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Challenge Questions! 

There were 7 stars in space. An alien spaceship zapped 4 away! How many stars were 

left? 

Ben the Giraffe had 10 spots and his friend Beth had 5 less spots. How many spots does 

Beth have? 

The villain caught 8 people and the superhero rescued 3. How many does the villain still 

have? 

Harder Questions  

15 – 5 = 

15 – 3 = 

13 – 5 = 

12-4 = 

20 – 8 = 

10 – 3 =  

10 – 4 =  

10 – 6 = 

10 – 2 = 

9 – 3 = 

8 – 5 = 

6 – 2 = 

Easier questions  

4 – 2 = 

5 – 2 = 

6 – 4 = 

4 – 3 = 


